NON-Liwi-

E_"_‘_f‘_’& Lt (X,P) be a,metric apace, (Y,0) be
anjgmlefc metric space , let C, (X,Y) be the set
of all conbinuous and bounded fundions from Xt Y,
e | |
¢ L (x,Y) :-_-{-f I §: XY is p-¢ continuous mX,
and $(X) v bounded &Y'}
Define £,1 G, (%Y x G (XY= IR by (
)/ ($,9) = our{ 0-(§00,9(0) : "C'X}
(ne thit {(fom,900): xeX ] bn bounded becase
$(X), 9(X) are bounded and ¢ (§0, 9e)< o(fee), P
(5, 9)+ 0(9,90)), Tt 10 eaey to check Ahat
J) v o metric on Co(X,Y). To see tl‘af(CL(X,ﬂﬁ)

ir complate, lat (Fnlnepy be a Cauchy 2eguence
in CX,Y), and ot €0, Then INEW auch that

fa(ﬁ'";‘p){i whendver n, p2N.

T &) 5(£,19, f,,"")‘ 2 W"“"W" n,p2N, xeX
| @




Tt follows that for each xeX, (£,00) o 0 Gudy
WY A Y b complate, (‘ﬁ,‘?’)“ew converges to
an demn‘f, Ay Ady, w Y. Define §: XY by«

fo = Sy (= Sitn ﬁf"): xeX.

By (%), for oll x,y €¢X,
o ($,%, frw)<t , r(fnlg), ‘fpfy))<z whewever n, 3N,

Lcﬁino Al weé 9ef ( from an Exeruse):
& ch o), Ffw, iy whenever n2N,

Pecause 'FN v continuous ot x, 3 ’5‘ >0 Auch hat

x%) oW, &(«p) ¢t whenever ye Bsw) .

By (%) & (%), *
oo, fon) e ) +e B0, E el fo)
<3€  whenever y¢ B (),

Therefore F 6 continuous at x, hence £ > continuon
on X, By (%), fou bmm‘el (4r S0 2 $4). Thus, fe (;(x,ﬂ
©3)




By coF )z(-fmf)sg whenever N2N. Thus $.) €N
converges t f w Cy (X, Y). Therefore, G(xY)

“ comP’efc .,

trait an isomelry T ¥ =9 _Cb(x,)’wlmo

We ¢cons
iy the (Cp (X, Y), fa) considered

(¢, (R fe)
ot the end Of m with Y PGP!MGJ 69 [R ({or,

the closure T(X) of T(x) o Hhe coaﬂd’c mefrie
R) 1 a complate metric space), We

~ G?MQ ¢, &,
moy Suppese X #
For ench X € X, define £ :X>R by:

{9 = Pl%9) = f(xo,y). |
14 is easy o ase that £ ¢ €, (X, IR), because:

é, ond choose arbitranly x,€X,




D[4 g-f 1< [pen-Prydl+] (%92 - P,
£20(4,99
(hene £, v continuous on X),
i) | §,t0-F, (9] = |£E0Y = piy)] £ Plx,xD
<n fafh'wlar (o f,“9’=0 VgeX)}
)t pn g, VyeX
(I\m ‘f‘ ‘.ﬂ bMJ?A),

Defire T: X = C, (%, R) by
T=f , xé€
Then by Cii) above,
Se (Tw T"‘") < P(x,x)), wlm-evn x,x’€X,
Putling y=x' wlo (il), we gét
| £, =§ (0] = 195 X0] = Plx,X0,
0 g, (To, rw)-—nupilf,ly) £: 9eX}
> |§,x9-5, e f(x,x')
e f, ( T, T(x3) > P(x,x),

herefore [, (T, TC)=pEx), T s anisometry,
and we are dene, MY




